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1.) Find a positive and a negative angle that is coterminal with% .1 & 1.) positive
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2.) Find the complement and supplement of the angle%-k - 2[ 2.) comp. 75"
> A2 Y7
Ir S=T ca'%—-,-;vﬁ supp. /5

s
s %

3.) If the angle is in radians, convert it to degrees. If the angle is in degrees, convert it to radians.
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4.) Find the length of the arc on a circle with a radius of 14 cm intercepted by a central angle of i
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5.) Charlie’s 1981 Dodge K-car has a broken speedometer. With the use of a high speed camera he has
determined that his Mickey Thompson tires with a 15 inch radius rotates 30 times every second.- How fast is
the K-car going in MPH? (5280 feet= 1 mile)
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6.) Use the unit circle to give the exact value of the given function. _ y
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7.) Find the exact value of thg: givesl\ trigonometric functions of the angle@..
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8.) The point (6, —8)is on the terminal side of an angle in standard position. Determine the exact values of the

given trigonometric functions of the angle. £
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9)If cos@ = %and @ is in Quadrant IV, then find the exact values of the following. |}/
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10.) Identify the amplitude and the period of thls eferaph. & =Y bz 10.) amp. J
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11.) a. amp. 2
11.) Identify the amplitude, period and phase shift of the function. per.
a) y=-2 sin(4x—%) b.) y =5cos(3x+7) phase shift %
g b.) amp. 5-

i, per. "
4 phase shift -

12.) Identify the period, phase shift, relative minimum and relative maximum for the equat1gn T
y=3sec(6x—). period Z /3

phase shift /é
rel. min. 3

rel. max. =3
13.) Evaluate the following expressions.
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In the lines provided, name the amplitude, period, horizontal center and phase shift for
each of the following. Then sketch one period of the graph.

1) y= 2sin (2x) amplitude = /Gl
1)
period = }
phase shift = O o i ' -T ; B R
vertical shift= () N
2) y=3cos(x+7m) amplitude = 3 . ' ¥
period = Q ﬁ’ ‘\\ | / ,‘
phase shift = _:_____h = ;? , \_;4 7 — l 27;
vertical shift= (0 " ; \\‘/ J I
3) y=4cos(3x)-6 amplitude = LI | »
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period = i< L ‘ .
phase shift = __C)___ . : S . J +ox
vertical shift= — 6 J

Write the equation containing sin that satisfies the given information:
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Identify the amplitude, period, phase shift, vertical shift. Then sketch one period of the
following:

6). y=2cos(x)-1 | ,,. |
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Vert Shift = l ‘

7). y =4 sin (2x)
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